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NOTE :- For each question you will be awarded 3 marks if you have given correct answer and zero marks if any
questionis not attempted. For each wrong answer 1 mark will be deducted.
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1.  Which of the following numbers is not a perfect square ?
(A) 7056 (B) 3969
(C) 5478 (D) 4624

2.  What least number must be subtracted from 176 to make it
a perfect square ?

(A) 16 (B) 10 (7 (D)4
3. A2+ (Z+2) = (-12+2)+ @)
(A) — = (8) =
(8) = (D) —=
4. By what number should — % be divided to get — 12—1 ?
(A) =2 (8) 2
(© 3 (D) -3

5. What is the area of a rectangular park which is 36§m long

and 162 broad -
5

(A) 52§m2 (B) 610m?
(C) 710m? (D) 900m?
6. Arational number not between — 2 and i is -
5 5
(A) (B) =
5 5
€ - (D) -,

7. (Bq+7p*—2r*+4)— (4p*>—-2q+7r3-3)=>
(A) (p*+2q+51°+1) (B) (11p*+q+57r°+1)
(C) (-3p?+5q+913-7) (D) (3p2+50-973+7

8. V72x+98=7?
(A) 42 (B) 84 (C) 64 (D) 74

9. (2x+5)(2x-5)="7
(A) 4x?% —10x + 25 (B) 4x2 + 10x — 25
(C) 4x% - 25 (D) 4x2% + 25

=1 & B e v ot ot e

(A) 7056 (B) 3969

(C) 5478 (D) 4624

176 @1 qof o 9 & ol DI &A1 gl SR?
(A) 16 (B) 10 (€)7 (D) 4

12+ (Z+2) = (-12+2) + )
(A)—a (8) =

© = (D) —=

—11/2 9Id B B fod —33/8 BT b G 9 fawfora
forar S |?

(A,_z (8) 2
(© 3 (D) -2
WWWWWWWWW% m

q iﬁﬁé 16 3 %_
(A) 52§m2 (B) 610m?
(C) 710m? (D) 900m?

—2 o 5 @ e OR e T -
(A) = (B) —=

€ = () -

(3q+7p —2r? 4+ 4) — (4p? —2q+7r -3)=>
(A) (p%+20+513+1) (B) (11p?+q+513+1)
(C) (-3p%+5q+9713-7) (D) (3p%+5q-973+7

V72 x4/98="?
(A) 42 (B) 84
C) 64 (D) 74

2x+5)(2x-5) =7?
A) 4x? - 10x + 25 (B) 4x2 + 10x — 25

(
(
(
(C) 4x2 -25 (D) 4x2 + 25
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12.
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14.

15.

16.

17.

18.

19.

20.

21.

22.

In the square PQRS, if PQ = (2x + 3) cm and QR = (3x—5) cm
then -

(A)x=4 (Byx=5 (C)x=6 (D)x=8
(X* -4X + 4) + (X-2) =2

(A)x-2 (B)x+2

(C)2-x (D)2 +x+x2

x% of y is y% of ?

(A) x (B) 100x (€) = (D) =

100 100
What is the quotient and remainder when (2x2+3x+1) is

divided by (x +1) -

(A) (2x+1),0 (B) (2x-1),2
(C) (2x2+1),-1 (D) (2x2-1),0
What is the HCF of x?y?z and xyz ?

(A) xyz (B) x?yz
(C) x?y?z? (D) xy
What is the HCF of pqr and xyz ?
(A) par (B) xyz (€1 (D)o
What per cent of Zis=?
7 35
(A) 2.5% (B) 10%
(C) 20% (D) 25%

Rashmi buys a calculator for Rs. 720 and sells it at a loss of

62%. For how much does she sell it?

(A) 720 (B) 672
(C) 630 (D) 510
If (x + %)=4 , find the value of (x2 %)
(A) 14 (B) 18
(C) 20 (D) 22

Manjit bought in iron safe for Rs. 5580 and paid Rs. 170 for
its transportation. Then, he sold it for Rs. 6440. Find the
gain percent earned by him.

(A) 12% (B) 15%
(C) 10% (D) 14%
Find the value of expression (36x2+25y2-60xy) when x =§
1
andy= .
3
(A)7 (B)2
()9 (D)~

The compound interest on Rs. 40000 at 6% per annum for 6
months, compounded quartely, is -

(A) 1209 (B) 1902

(C) 1200 (D) 1306

If the simple interest on a sum of money at 5% per annum
for 3 years is Rs. 1200 then the compound interest on the
same sum for the same period at the same rate will be -

(A) Rs. 1225 (B) Rs. 1236

(C) Rs. 1248 (D) Rs. 1261

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Ife il T PQRS & PQ = (2x +3)cm @ QR = (3x—5) cm @l

(A)x=4 (B)x=5
(C)x=6 (D)x=8

(X2 -4X + 4) + (X-2) =?

(A)x-2 (Byx+2
(C)2-x (D)2 +x+x2
Y BT x% fha @ &1 y% 82

(A) x (B) 100x

© 05 (0) 15

(2x%43x+1) BT (x +1) I fRIRTT BT W 9T BT 9 A9BA
BT

(A) (2x+1),0 (B) (2x-1),2

(C) (2x2+1),-1 (D) (2x2-1),0

x%y?z QAT xyz BT AAY. BT ?

(A) xyz (B) x?yz
(C) x?y?z? (D) xy
par @ xyz BT Y. I ?

(A) par (B) xyz
01 (D)o

% 1 farem ufrerd % 8-

(A) 2.5% (B) 10%
(C) 20% (D) 25%

—RA TSGR . 720 H WA A FHD 6-%. B
BN W ¥ | faspd e A BRI |

(A) 720 (B) 672

(C) 630 (D) 510

afx (x+%)=4 ar (xzxiz) BT A S B
(A) 14 (B) 18

(C) 20 (D) 22

HAOlld o Th ST 5580 H 6 H WRIGT  dAT 170 $UY IAD
IRaET R @9 Y| I 98 W 6440 H 99 A1 @M gfawra
R

(A) 12% (B) 15% (C) 10% (D) 14%
@TEH (36x2+25y%—60xy) BT AF AT BT oMafh x== Ty

3
=13

5
(A)7 (8)2 (€9 (0) 5
40000 ¥TY W 6% TP & I 6918 P hglg &N =T
PRI TP TUFET ARG B
(A) 1209 (B) 1902
(C) 1200 (D) 1306
Ifg fHft o9 W 3 auf &1 5% 6 R T AR AT 1200
TOY T Al SN O W [Ad B 99T B ol S ROWR

Thgfg TS BT
(A) Rs. 1225 (B) Rs. 1236
(C) Rs. 1248 (D) Rs. 1261
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23. Factorise : x° — 25x 23. X' —25x @ TUHEUS HRI—

(A) x?(x-5) (B) x(x-5)(x+5) (A) x?(x-5) (B) x(x-5)(x+5)

(C) x?%(x-25) (D) x(x-5) (C) x2(x-25) (D) x(x-5)
24. 6a*-13a+6=? 24. 6a%-13a+6=?

(A) (2a+3)(3a-2) (B) (2a-3)(3a+2) (A) (2a+3)(3a-2) (B) (2a-3)(3a+2)

(C) (3a-2)(2a-3) (D) (3a+1)(2a-3) (C) (3a-2)(2a-3) (D) (3a+1)(2a-3)
25. At what rate per cent per annum will a sum of Rs. 7500 25. frg oI amafe &t &% | 7500 $UY 2 a9 H 8427 &I

amount to Rs. 8427 in 2 years, compounded annually ? ST ?

(A) 4% (B) 5% (C) 6% (D) 8% (A) 4% (B) 5% (C) 6% (D) 8%
26. The endoskeleton of a cell is made up of 26. BIPGBI BT ATHHI fHADT g7 BT & ?

(A) Cell wall (B) ER (A) BIrepT fAfeT &1 (B) afa: y=Y STferet o1

(C) Cytoplasm (D) Mitochondria (C) Sfra &1 &1 (D) ATSEIRIf~SaT BT
27. Which of the cell organelle exhibits maximum 27. DT HIRGIT Faiferd IgwHuar q2idr &2

polymorphism? (A) TZaTAH (B) TR

(A) Lysosome (B) Spherosome (C) Xz (D) feaeTa™

(C) Ribosome (D) Dictyosome 28. 9 § & BN U TTooll SST & B T8l 87
28. Which one is not the function of Golgi complex? (A) BrefEESe FTergor

(A) Carbohydrate synthesis (B) wrsard o

(B) Formation of Lysosome (C) wrdt sferprt

(C) Formaton of secretory vesicles (D) sic: IR ST BT AT

(D) Diges.tion of intracellular par.ticles 29, giggieiigion uniigd Rerd 1 3
i o bosomes () i (o) i

(C) Microsomes (D) Mesosomes (c) R ! (b)
30. Two animal cells are inter connected by 30. @ W - g Tl ¥ N

(A) Desmosomes (B) Plasmodesmata (A) (B) refr

(C) Cell wall (D) Plasma membrane (€) wiferer i (D) e freel

) . 31. THTERT foreell o8 oIkt 38—

31. Tonoplastis a membrane surrounding the

(A) Cytoplasm (B) Nucleus (A) Gﬁm: (B) e o

(C) Vacuole (D) Mitochondria © ) ) (B) k !
32. Detoxification in liver cells is done by 32. ud i %ﬁﬁ TSR P T P BT PR PN E

(A) RER (B) SER (C) SR (D) Ribosome (A) R 3T Al ATt
33. Which of the pairs resemble in having the prokaryotic (B) Fareft sict: =t rferat

ribosomes (C) SR

(A) Chloroplast and nucleus (D)1=

(B) Nucleus and cytoplasm 33. 3 NP JIGATHH T S &

(C) Cytoplasm and nucleus (A) FARTEIRE TAT DBsieh

(D) Mitochondria and chloroplast (B) d=@ T Slaga
34. Engulfing of liquid materials by a cell membrane is (C) PIfrehreed derm e

(A) Endocytosis (B) Phagocytosis (D) wTETIRIfRgaT TAT FARIARE

(C) Pinocytosis (D) Active Transport 34, PIGT f3reell gRT g yeTedt &7 JTUST HEA &
35. Which of the following particles is largely responsible for (A) TrsraTSeIR (B) B™ATSEIRT

the chemical behaviour of elements? (¢) g (D) &fha uRag=

(A) Proton (B) Electron  (C) Neutron (D) Positron 35. 9@l @ IErEfE IO & for) Haite RTRRR B 82
36. gX"%and gX"’ represent (A) Ure= (B ESEE!

(A) Isotones (B) Isobars (C) =gt (D) utfrgr=

(C) Isotops (D) Isosters 36. X' T =uic &

(A) eI (B) 3SR (C) MW (D) MSARTY
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40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

The Isotones with zero neutrons is

(A) protium. (B) deutuium.

(C) tritium. (D) None of these
The number of valence electronc is 4X8 atom is
(A)1 (B)2 3 (D) 4
The number of valence electrons in igX is

(A)7 (B)9 €5 (D) 2

Two elements A,B, have 14 and 9 elecrtons in M and N
shells respectively. Then the ratio of their atomic numbers
is

(A)2:3 (B)3:4 (€)3:2 (D)1:2
Low pressure is maintained in the discharge tube to

(A) increase the number of molecules.

(B) increase ionisation of gas molecules.

(C) Decrease the velocity of the rays coming from the
cathode.

(D) All the above.

The ratio of number of electrons in N shell of A and M shell
of B with atomic number 40 and 32 respectively is

(A)5:3 (8)9:5 (C)5:9 (D)5:4
Unit of velocity is --
(A) M (B) M/Sec.  (C) Sec./m (D) Sec.’

Acceleration is --
(B) Change is distamce
(D) None of them

(A) Change in velocity

(C) rate of change in velocity
Momentum is ---

(A) Product of mass and acceleration
(B) Product of mass and time

(C) Product of mass and velocity

(D) Product of acceleration and time

Impulse is --

(A)I= FXT (B)I= MXA

(C)1= MXF (D)1= MXV

A car starts with rest porition after 10 Sec. it’s velocity

lecame 144 K.m/h. acceleration is ---

(A) 14.4 M/Sec.” (B) 5 m/Sec.’

(C) 1.44 m/Sec.” (D) 4m/Sec. *

A car of mass 500 k.g. is moving with a speed of 54 K.m/h
it’s momentum is ---

(A) 7500 m/Sec. (B) 27000 m/Sec.

(C) 2100 m/Sec. (D) None of them

A ball is thrown with accelerotion of 15m/5ec.2 the mass
off ball is 400 g.m. Calculate the force applied on it --

(A) 6000 N (B)6N

(C) 26.66 N (D) None of them

v= 100 M/Sec., u= 20 m/Sec., a = 16m/Sec.” , time = ?
(A) =Sec.  (B) 5 Sce. (C)—7Sec.  (D)11Sec.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

Y GG dTel e ¥

(A) mfear (B) sy

(C) afeas (D) ®1E &l

X IR B 98T I F golaetd B A ¥
(A)1 (B)2 (€3 (D) 4
igX TRAIY] & IR BT H goldae &I G@I 2
(A) 7 (B)9 (C)5 (D) 2

T Td AB, B MT N FelT § HI: 14 T 9 SAdeid 2 |
S URHATY] HHIP BT AU BIIT

(A)2:3 (B)3:4 (€)3:2 (D)1:2
98T Tl # TG FHH @ AT ©

(A) 317] B FAT e B ford

(B) < 31 B URT =l & fory

(C) et 3 3+ aTell fxoll & 97 HF B & o
(D) SURTaRT T4

A(TRATY] HHIEG 40 ) N P&l TAT B (URATY] HHID 32) & M
DE D golag BT AU o—

(A)5:3 (B)9:5 (€)5:9 (D)5:4
9T BT SHE o—

(A)M (B)M/Sec.  (C) Sec./m (D) Sec.’
TR B

(A) o % gRadH (B) 0 % yRad=

(C) a1 ¥ uRad+ & == (M EEEE

AT B

(A) T=EF 3R @R HT oG
(B) T iR 9T &1 [OHa
(C) =@ 3R 9 BT ToHA
(D) TR IR FHI BT YOG

3T B—

(A)I= FXT (B)I= MXA

(C)1= MXF (D)I= MXV

TH BR I S A 2| 10 § & 918 IFBT I 144 fH1 /&

B ST 8 | SFBT RO BT

(A) 14.4 M/Sec.” (B) 5 m/Sec.”

(C) 1.44 m/Sec.” (D) 4m/Sec. *

TH HR OdT geme 500 fuT ® 54 foed /€ @ wfa @
I Y& T | SADBT AT BT

(A) 7500 m/Sec. (B) 27000 m/Sec.

(C) 2100 m/Sec. (D) &1 =&

TP e Bl 15 M/F B @R A BHI Sl & AT SFhT
TIAM 400 UTH © S WX o7 dTell df fhar s8T—

(A) 6000 N (B)6N

(C) 26.66 N (D) None of them

v= 100 M/Sec., u= 20 m/Sec., a = 16m/Sec.” , qad = ?
(A) %:)Sec. (B) 5 Sce.

() %%ec. (D) 11 Sec.
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